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4-2 1

ACGIH  TLV: American  Conference of | ( )
Governmental Industrial Hygienists( I:
) Threshold Limit Values( ( )
A3:
S
A4:
ACGIH TLV-NIC ACGIH TLV
( )
3 (suspected)
( )
R2:
( )
2: (suspected)
3: (possible)
( )
Sen:
( )
R2: (possible)
Germany-MAK ( )
(Maximal Arbeitplatz-Konzentration) I:
( )
C D: (
( )
3B: invitro
4:
( )
Sh: (danger)
( )
C:
D:
( )
A4,A3,2B:
(1ARC) ( )
2B: (possible)
3:
( )
2B:
(JSOH) ( )
2B: (possible)
( )
A3:
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4-2 2

(potential)

numerical

Rc:

( )
A3:

( )
Sc:

(possibility)
ClU:

( )

Sen:

-0ES:

( )
R43:

sensitization)

(may cause

USA-EPA: -

(propable)

(possible)

USA-NIOSH(
National Institute of Occupational Safety
and Health)  IDLH:

USA-NIOSH REL:

USA-NTP:

RAC:

(reasonably anticipated)

USA-0SHA( Occupational
Safety and Health Administration ) PEL:
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”?Documentation of the TLVs® and BEIs® with Other Worldwide Occupational Exposure Values 2004, ACGIH, 2004)

4-3(1)

STEL
Yy -BHC
ACGIH TLV mg/m° 0.5 A3 © T
/ mg/m* 0.5 o
ppm 0.008 o
(/m® | 0.10)
mg/m? 0.5 o
/ mg/m? 0.5 1.5 o
mg/m? 0.05 0.1
mg/m? 0.5 o
-MAK | mg/m® 0.1 0.8 4 o
2B
2B
mg/m? 0.5 o
mg/m? 0.5 1.5 A3 o
Hg/m® | 4 o 2003 6 1
mg/m? 0.1 A3 o
mg/m? 0.5 o
mg/m? 0.05 0.4
/ mg/m* 0.5 o
-DOL RL mg/m? 0.5 1.5 o
mg/m? 0.5 o
-0ES mg/m? 0.1 o
-NIOSH IDLH mg/m° 50
-NIOSH REL mg/m? 0.5 o
-NTP RAC




tl%

4-3(2)

STEL
-0OSHA PEL mg/m? 0.5
O-BHC
—MAK mg/m? 0.5 4 o
2B
2B
-EPA B2
-NTP RAC
B-BHC
—MAK mg/m? 0.5 4 o
2B
2B
-EPA C
-NTP RAC
BHC
mg/m? 0.3 0.3
2B
mg/m? 0.5 1.5
2B
mg/m? 0.05 0.4
DDT
ACGIH TLV mg/m? 1 A3 TV
/ mg/m? 1
mg/m? 1
mg/m? 1
/ mg/m? 1 3 3
mg/m? 0.3 0.6 STEL




Ly

4-3(3)

STEL
mg/m? 1 o
-MAK mg/m? 1 o
mg/m? A3
2B
mg/m? 1 3
2B
mg/m? 1
mg/m? 1 3 A3 o
mg/m? 1
mg/m? 1 A3
mg/m? 1 Ca
mg/m? 0.1 0.8 o
/ mg/m? 1 A3
-DOL RL mg/m? 1 3
mg/m? 1
-0ES mg/m? 1 3
-EPA B2
-NIOSH IDLH mg/m? 500
-NIOSH REL mg/m? 0.5 Ca
-NTP RAC
-0OSHA PEL mg/m° 1 o
ACGIH TLV mg/m? 0.25 A3 o TLV
/ mg/m? 0.25 o
mg/m? 0.25 o
/ mg/m? 0.25 0.75 o
mg/m? 0.25 0.75 o
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4-3(4)

STEL
-MAK mg/m® 0.25 10 o
3
mg/m? 0.25 0.75 o
mg/m? 0.25 o
mg/m® 0.25 0.75 A3 o
mg/m? 0.25 o
mg/m? 0.25 A3 o
mg/m? 0.25 o
mg/m? 0.01 0.08
/ mg/m? 0.25 o
-DOL RL mg/m? 0.25 0.75 o
mg/m? 0.25 o
-0ES mg/m? 0.25 0.75 o
-EPA B2
-NIOSH IDLH mg/m* 25 Ca o
-NIOSH REL mg/m? 0.25 Ca S
-0OSHA PEL mg/m? 0.25 o
ACGIH TLV mg/m? 0.25 AL o LV
/ mg/m* 0.25 o
mg/m? 0.25 o
mg/m? 0.25 o
/ mg/m? 0.25 0.75 o
mg/m? 0.25 0.75 o
-MAK mg/m? 0.25 2 o
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4-3(5)

STEL

mg/m? 0.25 A o

3
mg/m? 0.25 0.75 o
mg/m? 0.25 o
mg/m® 0.25 0.75 Ad o
mg/m? 0.25 o
mg/m? 0.25 o

mg/m? 0.25

mg/m? 0.01 0.08 o
/ mg/m® 0.25 o
-DOL RL mg/m? 0.25 0.75 o
mg/m? 0.25 o
-0ES mg/m? 0.25 0.75 o

-EPA B2

-NIOSH IDLH mg/m? 50 Ca
-NIOSH REL mg/m? 0.25 Ca =
-0SHA PEL mg/m? 0.25 P

ACGIH TLV mg/m* | 0.1 A4 © LV

/ mg/m? 0.1 o
mg/m? 0.1 o
mg/m? 0.1 o
/ mg/m? 0.1 0.3 o
mg/m? 0.1 0.3 o
-MAK mg/m® 0.1 0.8 o
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4-3(6)

STEL
mg/m? 0.1 0.3 o
mg/m? 0.1 o
mg/m? 0.1 0.3 Al o
mg/m? 0.1 o
mg/m? 0.1 o
mg/m? 0.1 o
mg/m? 0.01 0.08 o
/ mg/m* 0.1 o
-DOL RL mg/m’ 0.1 0.3 o
mg/m? 0.1 o
-0ES mg/m? 0.1 0.3 o
-EPA D
-NIOSH IDLH mg/m° 2
-NIOSH REL mg/m? 0.1 o
-0SHA PEL mg/m? 0.1 o
ACGIH TLV mg/m? 0.5 A3 o LV
/ mg/m? 0.5 S
mg/m? 0.5 3 o
mg/m? 0.5 o
/ mg/m? 0.5 2 3 o
-MAK mg/m? 0.5 3B o
2B
mg/m? 0.5 2 o
2B 2001
mg/m? 0.5 o
mg/m? 0.5 4 A3 o
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4-3(7)

STEL
mg/m? 0.5 o
mg/m? 0.5 A3 o
mg/m? 0.5 o
/ mg/m? 0.5 o
-DOL RL mg/m° 0.5 2 o
mg/m? 0.5 o
-EPA B2
-NIOSH IDLH mg/m? 0.5 100
-NI0SH REL mg/m? Ca o
ACGIH TLV mg/m? 0.05 A3 o TLV
/ mg/m? 0.05 o
mg/m? 0.5 o
mg/m? 0.5 o
/ mg/m? 0.05 2 o
-MAK mg/m? 0.5 1 3B o
2B
mg/m? 0.5 2 o
2B 2001
mg/m? 0.05 o
mg/m? 0.5 2 A3 o
mg/m? 0.05 o
mg/m? 0.5 A3 o
mg/m? 0.5 o
/ mg/m? 0.05 o
/ mg/m? 0.05 A3 o
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4-3(8)

STEL
-DOL RL mg/m® 0.5 2 o
mg/m? 0.05 o
-EPA B2
-NIOSH IDLH mg/m° 35 Ca
-NIOSH REL mg/m? 0.5 Ca o
-0SHA PEL mg/m? 0.5 o
ACGIH TLV mg/m? 0.05 A3 o TV
/ mg/m* 0.05 o
mg/m? 0.5 o
/ mg/m? 0.05 2 o
2B
mg/m? 0.05 o
/ mg/m? 0.05 o
/ mg/m? 0.5 A3 o
mg/m? 0.05 o
-EPA B2
(Hg )
ACGIH TLV mg/m* | 0.025 A o TLV
/ mg/m* | 0.025 o
mg/m? 0.025
mg/m? 0.025 o
/ mg/m* | 0.025 o Sen R2
mg/m? 0.02 0.04
mg/m? 0.05 0.15 o
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4-3(9)

STEL
mg/m? 0.05
—MAK mg/m? 0.1 0.8 3B Sh
mg/m? 0.025 A4
3
mg/m? 0.025
mg/m* | 0.025 s1
mg/m? 0.025
mg/m? 0.05 A
mg/m? 0.05 0.5
mg/m? 0.025
mg/m? 0.05 Sen
mg/m? 0.025
mg/m? 0.025 0.2
/ mg/m? 0.05
-DOL RL mg/m* | 0.05 0.15
mg/m? 0.1
mg/m? 0.03
-0ES mg/m? 0.025
-EPA D
-NIOSH IDLH mg/m° 10
-NIOSH REL mg/m? 0.05
-0OSHA PEL mg/m° 0.1
mg/m? 0.01 0.03
mg/m? 0.01 0.03
-DOL RL mg/m* | 0.05 0.15 Hg
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4-3(10)

STEL
D
ACGIH TLV mg/m® 0.01 0.03 o TLV

/ mg/m? 0.01 0.03 o
mg/m? 0.01 0.03 o
mg/m? 0.01 0.03 o

/ mg/m* | 0.01 | 0.03 R2 ) Sen R2 ALARA
mg/m? 0.005 0.03 o
mg/m? 0.01 0.03 o
mg/m? 0.01 o

-MAK 3B o Sh

mg/m? 0.01 0.03 o
mg/m? 0.01 0.03 o
mg/m? 0.01
mg/m? 0.01 0.03 o
mg/m? 0.01 0.02 o
mg/m? 0.01
mg/m? 0.01 o Sen
mg/m? 0.01 0.03

/ mg/m? 0.01 0.03 o

-DOL RL mg/m? 0.01 0.03 o

mg/m? 0.01 0.03 o
mg/m? 0.01 o

-0ES mg/m? 0.01 0.03 o

-NIOSH IDLH mg/m° 2

-NIOSH REL mg/m? 0.01 0.03 o

-0SHA PEL mg/m? 0.01 0.04
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4-3(11)

STEL

ACGIH TLV

mg/m?

A4

TLV

/

mg/m?

mg/m?

mg/m?

mg/m?

R2

Sen

R2

ALARA

mg/m?

10

-MAK

mg/m?

IR I T

Sh

mg/m?

10

mg/m?

mg/m?

A4

mg/m?

mg/m?

mg/m?

Sen

mg/m?

|l ol ol | R|o

mg/m?

0.5

mg/m?

-DOL RL

mg/m?

10

ppm
(p/m

50
500)

Sc/CIu

mg/m?

Sen

-0ES

mg/m?

10

R43

-NIOSH IDLH

mg/m?

100

-NI0OSH REL

mg/m?

-OSHA PEL

mg/m?
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4-3(12)

STEL
(As )

mg/m? 0.025 0.05

-0OSHA PEL mg/m? 0.5

ACGIH TLV IVA mg/m? 0.05 A o TLV

/ mg/m? 0.1 o
mg/m? 0.1 o
mg/m? 0.1 o

/ mg/m? 0.05 o
mg/m? 0.05 0.1 o
mg/m? 0.1 0.3 o

-MAK I mg/m® 0.1 0.8 o
3

mg/m? 0.1 0.3 o
mg/m? 0.1 o
mg/m? 0.1 o
mg/m? 0.1 0.3 A o
mg/m? 0.1 o
mg/m? 0.1 o
mg/m? 0.05 o

/ mg/m* 0.1 o

-DOL RL mg/m’ 0.1 0.3 o

mg/m? 0.1 o

-EPA C

-NIOSH IDLH mg/m° 10

-NIOSH REL mg/m? 0.05 o

-0OSHA PEL mg/m? 0.1 P
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4-3(13)

STEL

ACGIH TLV

mg/m?

A4

TLV

/

mg/m?

mg/m?

mg/m?

mg/m?

mg/m?

mg/m?

ol ol ol o]l o] o] ©
Nl NN NN

A4

01]0|0f0]0]0]O

mg/m?

mg/m?

mg/m?

A4

mg/m?

mg/m?

mg/m?

mg/m?

/

mg/m?

-DOL RL

mg/m?

mg/m?

-0ES

mg/m?

-NIOSH REL

mg/m?

ol ol ol o] o|l|o|lo| ol o]l ol ol o
NN NN

0]0[0f0O]0]0Of[0O]0]0]0O[O0O]O

ACGIH TLV

IVA

mg/m?

0.05

Ad

Sen

TLV

/

mg/m?

EPN

ACGIH TLV

mg/m?

0.1

Ad

TLV

/

mg/m?

0.1
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4-3(14)

STEL

mg/m?

mg/m?

mg/m?

mg/m?

1.5

STEL

-MAK

mg/m®

mg/m?

mg/m?

A4

mg/m?

mg/m?

mg/m?

mg/m?

mg/m?

0jo0fO0fl0O]0O|Of0O]0OJ0O|OfO0O]O

mg/m?

ol ol ol o] ojlo|l|o|l o]l ol ol ol ol ©
Ll Il Bl IO T G T I O I B O O ol )]

-NIOSH IDLH

mg/m?

-NI0OSH REL

mg/m?

o
(6]

-0SHA PEL

mg/m?




ACGIH

4-4 ACGIH TLV(TWA)
Conference of Governmental Industrial Hygienists(
ACGIH )

TLV (Threshold Limit Values)
TLV

Average )
40

TWA
1CSC

59

ACGIH American

TWA (Time Weighted



4-4 ACGIH TLV(TWA)
ACGIH-TLV(T (
WAY* [mg/m’] )
BHC (y LOAELO.19 A3
) 0.7mg/ m*( )
0.5 (2001)
v ) | 0.5 (2001)
a *
B *
DDT 1 (2004) A3
(ODT
)
0.25 (2001) 2 A3
0.1(2001) Ad
0.1 mg/m?
*%
LDs,
0.25 (2001) ( Al
)
( 5mg/m® 1 3 A3
)
0.5(2001)
0.05 (2003) A3
* TLV TLV
1CSC
**k (
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4.2.4 )
ATSDR Toxicological Profile 4-5
4-5
p,p~ -DDT 0.35 mg/kg
0,p~ -DDT
p,p ~ -DDE
0,p ~ -DDE
p,p~ -DDD
0,p = -DDD
o-BHC 0.88 ppm( )
[3-BHC 0.00032 mg/kg
Yy -BHC 12 mg/kg
S-BHC
0.017 mg/kg
(0.020 mg/m*)*
0.041 mg/kg
(0.049 mg/m*)*
0.041 mg/L 1.8><107 ppm
(0.29 mg/m3)**
( ( 0.3 mg/m?
0.3 mg/m
( )
(
)
0.012 ppm
(0.13 mg/m3)**=*
* 1.205 kg/m(20 1 )
*x 380.9 @ 1 )
ok 263.23 @ 1 )

#

(

(http://www._nihs.go.jp/c-hazard/bc-info/cagent/pulmonary.html))
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4.2.5

4-6
¢)) 190t 4m>< 30m>< 4m
15m>< 50m>=< 5 8m
@
(
©) )
3 ( 60m/ )
2
lpam 6 ) HEPA ( 0.3pm 1 )
@) 3 ( 1.4m/ 2 )
10m
8m
METI-LIS (
)
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4.3 POPs
POPs

POPs

POPs

63




TOC

pH

POPs

13

POPs

12

64
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4-1 POPs
POPs
POPs
POPs
POPs
( METI-LIS(
POPs )
POPs
POPs

POPs

POPs

POPs




L9

ACGIH

mg/m? mg/m? mg/m® mg/m? mg/m? mg/m?
POPs

- 0.5¢Y ) 0.004 ( 0.5(C ) -y ) 0.0003

- 1( 0.1( ) 1C ) - (p,p") 0.0017
- 0.25 ( 0.01 ( ) 0.25( ) [0.020 0.00003

- 0.1 0.01 ( ) 0.1( ) 0.29 0.0001
- 0.25 ( 0.01 ( ) 0.25( ) [0.049 0.00003

)

- 0.5( 0.5 0.5 - 0.0002
- 0.05 0.05 ( 0.5( ) 0.3 0.00003
0.025 ( ) 0.01 ( 0.005 ( 0.01( ) -( 0.00004*

)
- 1 0.5( ) 5C ) - 0.0008
0.3%* ( ) 0.025 ( 0.5 -( 0.0007
(As (US OSHA) )

0.1 0.05 0.05 ( 0.1( ) - 0.0013

- 0.2 0.1( ) 0.2( ) - 0.0010

- 0.05 ( (0.05) (0.05) 0.13 0.0001

)
- 0.1 0.1 ( 05( ) - 0.0008

**

10




